Code #1
* WRITE EXAMPLE CODE 1

.

. <Code precedes this>

. 

FIND FILE-STUDENT-AID WITH FSTAD-KEY8 = #AID-KEY

  REJECT IF CODE-STAD-SOURCE = 'CWSP'

       OR = 'FAMPL' OR = 'FCO' OR = 'FRGN4' OR = 'FPO'

       OR = 'GCWSP' OR = 'GRADS' OR = 'OVR4' OR = 'PCO'

       OR = 'ROTSB' OR = 'SCWSP' OR = 'SUFP'

       OR = 'SUFU' OR = 'WAG' OR = 'WAGCO' OR = 'WAGS'

       OR = 'SCWSG' OR = 'RAH' OR = 'RAT'

    MOVE CODE-STAD-SOURCE TO #CODE

    PERFORM DETERMINE-IF-EFT

    ACCEPT IF CODE-STUD-AID-STAT-YRTM = 'AC' OR

              CODE-STUD-AID-STAT-YRTM = 'AD' OR

              CODE-STUD-AID-STAT-YRTM = 'VH' OR

              CODE-STUD-AID-STAT-YRTM = 'HD' OR

              CODE-STUD-AID-STAT-YRTM = 'VS'

    ACCEPT IF #INDC-EFT = 'Y' AND

              (CODE-STUD-AID-STAT-YRTM = 'AW' OR

               CODE-STUD-AID-STAT-YRTM = 'ES' OR

               CODE-STUD-AID-STAT-YRTM = 'VH' OR

               CODE-STUD-AID-STAT-YRTM = 'HD' OR

               CODE-STUD-AID-STAT-YRTM = 'VS')

.

. <Code follows>

.

PRINT    #ID-NUMBER 

ADD 1 TO #OUT-RECS(N10)

.

. <Code follows>

.

WRITE 'OUTPUT RECORDS:' #OUT-RECS

Result of running this code:

931071001

931071002

931071004 

<More ids follow>

OUTPUT RECORDS:          37

Now a Write is inserted between the Accept statements as follows:

ACCEPT IF CODE-STUD-AID-STAT-YRTM = 'AC' OR

          CODE-STUD-AID-STAT-YRTM = 'AD' OR

          CODE-STUD-AID-STAT-YRTM = 'VH' OR

          CODE-STUD-AID-STAT-YRTM = 'HD' OR

          CODE-STUD-AID-STAT-YRTM = 'VS'

WRITE '=' NUMB-STUD-ID '=' #INDC-EFT '=' CODE-STUD-AID-STAT-YRTM

ACCEPT IF #INDC-EFT = 'Y' AND

          (CODE-STUD-AID-STAT-YRTM = 'AW' OR

           CODE-STUD-AID-STAT-YRTM = 'ES' OR

           CODE-STUD-AID-STAT-YRTM = 'VH' OR

           CODE-STUD-AID-STAT-YRTM = 'HD' OR

           CODE-STUD-AID-STAT-YRTM = 'VS')

The program is run again with these results:

NUMB-STUD-ID: 931071004 #INDC-EFT:   CODE-STUD-AID-STAT-YRTM: AD

NUMB-STUD-ID: 931071004 #INDC-EFT:   CODE-STUD-AID-STAT-YRTM: AD

NUMB-STUD-ID: 931071005 #INDC-EFT:   CODE-STUD-AID-STAT-YRTM: AD

NUMB-STUD-ID: 931071005 #INDC-EFT:   CODE-STUD-AID-STAT-YRTM: AD

NUMB-STUD-ID: 931071006 #INDC-EFT:   CODE-STUD-AID-STAT-YRTM: AD

NUMB-STUD-ID: 931071011 #INDC-EFT:   CODE-STUD-AID-STAT-YRTM: AC

<More writes with similar data follow>

OUTPUT RECORDS:           0

Why did the insertion of the write statement change the results of this code?

